, state when the electrical gradient (electrical forces driving diffusion of an ion)
and the chemical gradient (concentration difference across a membrane) are
pqual but opposite in direction so that there is no net movement of ions

No, because of the difference in permeabilities of ions for every type of cells
he number and opening of channels specific to a specific lon differ from cell to cell

Nothing, (-85 is very near or equal to the nemst potential for Cl- ions)

Using the Goldman equation

he changes to the activity of gated channels by changing the voltage (potential);
changes to the permeability of ions with changing potential.

No, because the membrane is not permeable for such large molecules




